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SECTION -1
oTqug — |
CHILD DEVELOPMENT AND PEDAGOGY
EIGREE AR NN ]

There are 30 questions in all in this section.
All questions are compulsory.

39 @S U HeA 30 TH B |
a¥ff Ted a2 |
1.  Children who are deprived of minimum basic facilities are classified as
(A) Delinquent children (B) Special children
(C) Disadvantaged children (D) Backward children
A SR GlaenaTi | Sfaa srereni i = w9 1 afiera fera wma @ -
(A) AU qTeth (B) fafyrs st
(C) widepa Fiferfa aTeih (D) Tuss aets
2. Which of the following is a behavioural symptom of maladjustment ?
(A) Aggression (B) Anxiety
(C) Insecurity (D) Apathy E@
35 o @ hI9 T HHARISH <l SHEERIcHS &0 § ? b
(A) 3TTshRMHHAT (B) fa=m
(C) T (D) Seriar

3. Which method is NOT directly related to children with special needs ?
(A) Diversity of curriculum
(B) Development of sports and extra curricular activities
(C) Different teaching methods
(D) Training for special activities
foRIY SATeRER AT aTet STereh! < 191 i € e weaer &9 8 gt 38 @ 7
(A) UTeIsRH 1 i
(B) WcAha o IAfih TIGTshH Tt fe=i o1 foshra
(C) T faveqor farferat
(D) forom wiferfafern o forar wfwreror

4.  Learning disability related to reading is termed as

(A) Dyscalculia (B) Dyslexia
(C) Dysgraphia (D) Dysthymia
UG § TR IR JemAT Rl SIS |

(A) feeberpfern ®) fewifamn

(C) feaifran (D) feremsfirn
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Which of the following is NOT a process of learning for children ?

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
1 1 A ol it werhi < T Jrferm o6 wfshan 78 @ 2

(A) widfee=H (B) T

(C) Tiaeerdt (D) heddl

The concept of reward and punishment in learning is introduced by whom ?

(A) E.L. Thorndike (B) Kohler & Koffka

(C) B.F. Skinner (D) Albert Bandura

Mo B YT 9 US <hl SRV fehtieh GRT Seferd <hl T8 & 7

(A) 3.TC. AHeEH (B) hIgeH & hitehl

(C) .Uk, whi (D) 3Fead SgU

Which statement is NOT true for the concept of learning ? E@

(A) Learning is the change in behaviour.
(B) There is a relatively permanent difference.
(C) Learning is influenced by practice.

(D) Learning is an innate mechanism.

AT hl STFURON % o S A1 HoU T T2l & ?
(A) 3T =egR H qiEdq 2 |

(B) 3TUe1Tehd &Y & LRt 3= qitetféad 2 ? |
(C)  3TfemTH 313 g qTferd 8 @ |

(D) iferTH Uk TSI Uik R |

Classical conditioning theory propounded by Ivan Pavlov explains learning by

(A) reinforcement (B) association

(C) 1imitation (D) insight

3 TiaarTd i foaiea s sTgea-e fagr=a Stferms st fre o g wwermar &
(A) YHAsieH (B) wrE=:

(C) FITH (D) 3aglE
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10.

11.

12.

)
Which type of teaching is NOT based upon objectives of teaching ?
(A) Cognitive teaching (B) Descriptive teaching
(C) Affective teaching (D) Psychomotor teaching
Tvaqor =61 =i @1 b fveror 3 JewAl o e T ¢
(A) HHTH feqo (B) aufHTeHeh fareqon
(C) waTeHeh f3reror (D) HANTTCHe, frerur

A group creativity method for solving specific problem by gathering a list of ideas
spontaneously is known as -

(A) Brain storming strategy (B) Mastery learning strategy
(C) Problem solving strategy (D) Heuristic strategy

afierar & foam <6t F=ht o TanT o g Tl e o qeee 6 g EETHw oty w
el STl &

(A) Tl faaa Iie (B) @I AfRH IRk E@
(C) HEEI FHIEH h (D) 3o gk =

Which process is NOT directly related to role of motivation in classroom learning ?

(A) Knowledge of progress and result (B) Interpersonal adjustment

(C) Praise and criticism (D) Level of aspiration

e AT | Ffrsieer <Al ftrent form wfshan @ Yoaer w9 | wrfd 98 @ 7
(A) T a2 IROTH <1 ST (B) IA<daftheh THRISH

(C) I3TET AT AT (D)  3ATHIAT =R

Concept Mapping in Education was introduced by whom ?

(A) Carl Jung (B) Martin E. Seligman
(C) Noam J. Chomsky (D) Joseph D. Novak
Taren & sraymon At foheeh R ggmfad fomem T ?

(A) I T (B) WA 3. afcwmA

(C) M. FraEht (D) % €. AT
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Which statement is NOT true for Right to Education Act —2009 ?

(A) Free and compulsory education for every child between 6 to 14 years.
(B) Provision of School Management Committee.
(C) Constitution of National Commission for Elementary Education.

(D) Minimum 60 hours of work per week for a teacher.

forem 1 rferepr srfafRm-2009 % R P T FF IR TE R 7
(A) : ¥ Icg 9y o Y STeTeh o ol (:3eeh 9 Afamt e
(B) oot weg wmftrfa =1 Ay

(C) wfies f3ren & o2 Trgter SmImT 61 3A

(D) 379k o fordt Wi T8 = 60 =vet o1 wid

Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum

(C) Stephen M. Covey (D) Stephen M. Corey

e o Torameneh STgHe o forepra # fopem AneM T2 fea 2 E@
(A) e Afed (B) 1.3R. sfhem =
(C) W UH. Hd (D) W% TH. HR

Which level of measurement is least used in educational psychology ?

(A) Ordinal scale (B) Nominal scale

(C) Ratio scale (D) Equal interval scale
frer oot o fope S o WO 1 =gaw TENT R ST R 7

(A) SREEEH AT (B) fHep HIGH

(C) ATuTfCreh HIAT (D) HHM =Tt ATI

Which is the main philosophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden

(C) Learning co-curricular activities (D) Continuous and overall evaluation

T U=t FR@T-2005 T G G2 FT 8 7
(A) SR Harerart Hig (B) o sitgr = T
(C) Tg-3tegfre Midfafeeri i @ (D) Tad Taq ST Gedieh
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18.
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20.

Q)
Which method is NOT valid to study the role of heredity ?
(A) Twin study (B) Parent-Child analysis
(C) Adoption study (D) Peer group study
SATFATIERAT <l T 6 e o ford A fafu du 3 2 2
(A) Tal Sl b1 AL (B) AT -aTeTeh fargeryor
(C) TIAH-TEU T (D) HHITh TG 1T

The observable physical and psychological characteristics of an individual is termed as

(A) Prototype (B) Karyotype

(C) Phenotype (D) Genotype

e Sk < fe@g o areft ¢faeh aen aiaeTe fomwast 1 o w9 o ufernfya foer
ST g |

(A) rereTEd (B) WIARTEY

(©) e (D) e 2o

According to which perspective, child development reflects a specific and prearranged
scheme within the body ?

(A) Environmental (B) Social

(C) Biological (D) Psychological

forer TR 3 ST et Faebre SR % 31eat U Frfire e et SoTelt Bt w2 7
(A) et (B) IR

(C) e (D) HAISHTHH

Which of the following psychologists is NOT related to theories of child development ?

(A) Jean Piaget (B) Abraham Maslow
(C) Albert Bandura (D) Lev Vygotsky

o AR & o e FarehTe 3 g & oo 7 2 7
(A) S TS (B) 3TSIT&H HieAl

(C) 3Tea Sgu (D) od IreEEhl
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Individual differences in temperament are basically

(A) Learned (B) Innate

(C) Acquired (D) Cultural

@ § fhrd fafiead s sed . B E |

(A) el (B) ST

(C) e (D) wieHk®

Who has NOT propounded any theory of personality ?

(A) B.F. Skinner (B) Sigmund Freud

(C) Gordon Allport (D) Ramond B. Cattell

foper =afehea o fopelt off g =1 WfoTfed & fepa 8 2 E)E
(A) .0, T (B) Termve wre B
(C) TS AT (D) WUE i, A

Which test was created by Henry A. Murray and Christiana D. Morgan ?
(A) Sentence Completion Test (B) Sixteen Personality Factors
(C) Thematic Apperception Test (D) Picture Frustration Test
TR . R a1 forfeeamn €. A A g s a1 wiegor ffia fopam w7

(A) e gfd adieor (B) HIeTg SAfthed 3™

(C) YT T qeqor (D) Tz puar wleqm

Which factor is NOT related to growth of a child ?

(A) Nutrition (B) Health
(C) Sleep (D) Domicile
Toh STCToh 1 1 § I |1 hTech T4 981 8 7

(A) 9Ny (B) e
©) fm (D) feama

Which dimension of development is influenced by the theories of Noam Chomsky ?

(A) Language development (B) Moral development
(C) Emotional development (D) Cognitive development
forehTet %1 61 |1 3T A7 STHEhT o fagTal | gIfaa geT R 7

(A) T T (B) fces ferepm

(C) @rafiTes ferepr (D) EHTCHe e
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29.

30.

)
Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic
(C) Emotional (D) Existential
TR FrgHST o M 6 g H i € ghgaan qffiifera =21 & 7
(A) 3a:Hfw (B) T
(C) ¥R (D) feacashil
Creativity is associated with which kind of thinking ?
(A) Overthinking (B) Meta thinking
(C) Reflective thinking (D) Divergent thinking
TEFTCHehdT o= % i & TR & TIef-2d 8 7
(A) A fa=m (B) aAfy-fa=m
(C) Tomsff fomam (D) AERY fa==

i

The term mental retardation is replaced with which term ?

(A) Intellectual disability (B) Mental weakness

(C) Intellectual backwardness (D) Intellectual disadvantage
HTfdeh fermfeed we ot forr ug % wmer wfeeenfua ferm w2 7

(A) difges S (B) WM HHSA

(C) difgs fssH (D) difigeh Sfdegerar

Which of the following is NOT true for the theoretical concept of personality ?
(A) Stable (B) Normal

(C) Enduring (D) Unique

Safthea i Fgife staumen & R fra d A sR o 22 2 7

(A) fer (B) €M

(C) wamft (D) I

Which test is culture-free Non-verbal test of Intelligence ?

(A) Group test of Intelligence (B) Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
I |1 T I GHTT hT Tl - ST T 2 7

(A) fgHT 1 axg Wi (B) SISTeR o%eh gfgHaT ATt

(C) it Sk (D) WveE ynifye ffeas
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T -1
femal
39 @UE U FeA 30 T 7 |
it we e § |

ferenffari <pt qecent < wew | wryT i gt eafi wa Tl I Hue 3% ued forem %
SHivret | g fopan wTraT 7 | 39 Tafyr =1 st ST &

(A) T S=mTSTTe fafer (B) i wE fafer

(C) wiga-ges fafey (D) @ fafy

BTeed JuTTedt o1 3Tfersshi fere fopam 7

(A) Tererafess (B) STeeAd

(C) wHmoeHd (D) UThge q

SH IUTTH o STTAR e 1 Fradt sk # wftirferd ug 8 .
(A) W= (B) A& FT %’%
(C) SRRl (D) SIIER UiEd

et 3o hi a9 I FAT 8 7

(A) 3@ forad e freres foremeff <6t wgmar 9 L |

(B) 3@ T SicTeht fef@em AW |

(C) ITeE | &R 1 s1ae I & BT =TfeT St fop e @ H Al |
(D) Suderd Teft fershed @l & |

TS T80T <A1 g - 2768 | & —

(A) Tor=t foremees = (B) UTHHH

(C) = (D) Teshish

TTH  UTGATETh o T=d1ieh €Y H AT aed el & —

INERLL (B) T wmft

©) foer (D) et

freferfiaa & & 9TST JEAehTer™ T A S TR ?

(A) e foreror 9 gfd (B) AT % fofu 31aE
(C) Frbea (A)w@ (B)GHI®AIE | (D) o §HE 8

T & Hifges henati H e -

(A) T T1eres Ush T H Ueh & B <hl uieq of Hehdl 7, 37d: G0 3fereh oI | |

(B) WifRgeh aienaTi sl Sqi-s &l ST ST Hehall |

(C) = ufienati @ foeneff & i wrarh Siwed — A, e 3R S 1 T a1 919 foma
ST HHAT & |

(D) 3 qhienatt § foameff 3 e shieret st Ao TE R Tehd # |
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39. fmfafea o @ suafss e & foi gq affa ugi S d M o e 7 & 7
(A)  TEETOT ST §ET | (B) uiequr o URieh &9 Shi T&HT T |
(C) wltegur o1 qAFLEOT (D) iegur <1 ST
40. T TS SATIh HeAieh JOTTeAl 1 QIS & :
(A) 3Te9 TUAT=R 8 B arefl whe (3w) & foeneff @ o sreremsicl &d |
(B) fareres feremeff <61 arrerveres e v qumsl it qd @A 2 |
(C) feremeff 1 31o+ft it o1 9 @ BT waT ® |
(D) Toremefi W ay X Wi 61 W &4 T8 &, o 35ent wnTfaes Tt yefad gt g |

FrfarRaa e & STTUR W 99T @I 41 | 50 T o I ST

TEA: THAT T8 GRS THT W ST Bl & a1 oigeh T T AR U hl 97, 31es &
3E, &€ & W THhIC(H JAM hl aeish 3R ABLEA % AW H g9 T&dl € d goll 3
TEATcHehdT T caTd Tadl & | a1 31fres o8 et gim, a1 €t 3Afieh o8 3ot eardl 1 Tfauy
T G T, THT 31 &1 371U Thel a1 | $6eh STTHR &1 T Th 91d g Hi qHerT =1ie b Sa
TR o= = Tafeq S, I I8 3Mmeveh T&l Wl foh THd AT haet 3ot & 3 35 € w
St fob T & qd i TRET § wfeud 6 g off | HRor g g 6 wafed g1 H wbrn A @ 3w w
eI <1 gaTd o TR | S I8 TTE 39 fehdaT 3R 8 et SR, I8 9H fU ST 1 $is
1Y T2 BT | T 1 T b S1G & ST ST & fob 91 T 1 2 | 9T: & herrehid H ud g
T&d g, 3 3un UEt s oft gt 2, ook fa T eTeR wem 71 &, 9% 3Taves TEi | 98 S
gl a1 ¢ o U w18 Frm e 2 foh Tor ot 311 a1 & et a1 ok 1 =18l ®, 9% 5o A
1 3fres ) St gehel B 3T FHfl—Hur faudid «ft it TeRdl 3, 3HH W TS B | IH A=A Hl
TaTE 39 Auft Y WIS T ot 310 T9TE STetar 8 | gorEl S had @ fob “fotaa gy, fetfee wg”
I8 TE1 2 | UTIT Heteh o1 THE 331 I & w1e ofY, ofion Frei & 3o & aHE’ oSt <t st
ST} TR T T |
41, SEN veg IRT b IMIR W & —

(A) deud (B) dcEH
(C) foresft (D) <3

42, “GUHT 1 FATFETE T6E B — 5
(A) (B) mH ﬁ)%
(C) ™I (D) wetd

43, Tomehl HaeT % w9 H vl g8 81 | SR o foTw Suged wee B —
(A) W& (B) =HHM

(C) wafed (D) Hem
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‘SATITIH T16G hT Il 316g ST o TTT I 1 IUEAT Terd &1 T 7
A) A (B) 3H
(C) 3 (D) 3

~

AR’ ITeg § TYF T & —

A) (B) &
©) T (D) fr
“Frfearel’ sreg o wfer 8 —

(A) FuE (B) < Efy

(€) TmE (D) Figfy
Frafafiga sl 0 @ g A€ 2

(A) Afs (B) W& E;E
(C) T (D) T B
‘FTER oG H HH AT g ?

(A) ITR-YT9 qHE (B) dcqeN GHE

(C) ggau™ (D) Tgp oM

‘o8 e H HaH B —

(A) FRETEES wom (B) WSS o™

(C) Trsare wem (D) FAT=FET=es g
A T TSI H GIR ?

(A) cHferTerTees |31 (B) Stifcrermeres €311

(C) &A= |3l (D) WTereT=eh B

FrfarRaa e & STER W ¥ T 51 8 56 T o YT oh I IS ¢
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(A) Il (B) Srd™

(C) ST (D) S

Tt srec o1 31f B

(A) Fhier (B) d&UTt

(C) vl (D) 3T

“FToh1 SE M TS @2 | T I § hH A hIeAT & ?

(A) 9T FaHH (B) T S

(C) qui FaHH (D) I I

‘T’ weg & —

(A) wrrfe (B) oot

(C) TErhfetT (D) wfifer E@
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(A) =Afadsh (B) <Afdaca

(C) =Afeaa (D) JfaH

TSTEATT o “HTET T2 Rl Ak fal ET 3 :

(A) ST (B) wmwT

(C) wmr=m (D) wrEn
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(A) A B) fau=

(C) fobed (A) W B)THIEEE 1 (D) T A HIE T
I ST e 3T U & T8 & w4 81, og heEelrdl 8

(A) ETEATYS FT9 (B) 3TT3a 3yaTe

(C) EehdTeieh IUaTR (D) TUN YIS

It IS TR T 31 7

(A) 39T AT (B) ToUsht wgd T
(C) T&THET (D) &I Tl
TS~ Sfte foramr o 379f § Suge Aot o

(A) YT @ W FE (B) 3791 AT IR IatT

(C) 313 I i e (D) 373 9R =t ER
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

The exercise of listening skill is

(A) Sports commentary on a radio (B) Advertisement board
(C) Pamphlet (D) Poster
Which one of the following is a measure to improve bad handwriting ?
(A) Use of ball pens (B) Wrong habits
(C) Proper posture (D) Writing carelessly
is not a technical characteristics of a text book.
(A) Proper spacing and margins (B) Good quality white paper
(C) Lengthy texts (D) Readable size of the letters
‘Blackboard’ is the aids for teaching.
(A) technical (B) cheapest
(C) modern (D) physical E'E
H
Audio-Visual aids save
(A) money (B) interest
(C) effort (D) verbal input
Students improve their critical thinking in
(A) peer assessment (B) portfolio
(C) cloze test (D) writing tests
CCE is carried out in classroom.
(A) strictly (B) formally
(C) informally (D) timely
CCE is not successful in
(A) private schools (B) crowded classrooms
(C) small classrooms (D) government schools

For a good test in English
(A) language must be lucid and clear (B) the text-books must not be used
(C) the questions must be complex (D) the questions must be simple

‘Matching Test’ is an example of
(A) Short answer type (B) Long answer type
(C) Essay type (D) Objective type

PL-2
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Read the passage and answer the questions (Q. Nos. 41 to 45) that follow :

41.

42.

43.

44.

45.

A marriage as early as that was the last thing on her mind. She threatened her parents
that she would never marry if she did not get a proper education. She left home and got
herself enrolled in a school in Delhi. When her parents refused to pay for her education, she
politely informed them of her plans to earn money by working part-time to pay her school
fees. Her parents then agreed to pay for her education.

The synonym of ‘refused’ is

(A) granted (B) denied

(C) permitted (D) allowed

The antonym of ‘politely’ is

(A) courteously (B) humbly -
(C) rashly (D) angry ﬁ%
The correct spelling is

(A) acadimision (B) academician

(C) acedamician (D) academision

The verb form of ‘enrolled’ is
(A) enrol (B) enroll
(C) enrollment (D) enrolment

‘Part-time’ stands for
(A) working less than standard hours (B) working in parts
(C) working in obligation (D) working for no remuneration

Read the passage carefully and answer the questions (Q. Nos. 46 to 50) that follow :

46.

47.

48.

49.

Friends had conjectured that the bear would not recognise her. I had thought so too.
But while she was yet some yards away from his cage, Baba saw her and recognised her.
He howled with happiness. She ran up to him and petted him through the bars, and he stood
on his head in delight.

‘He howled with happiness.” The underlined verb is in tense.

(A) Present Simple (B) Present Perfect

(C) Past Simple (D) Past Perfect

She ran up to him and petted him through the bars. The underlined word is —
(A) interjection (B) conjunction

(C) adverb (D) preposition

Choose the conjunction :

(A) her (B) within

(C) the (D) but

The determiner is
(A) and (B) had
(C) the (D) wup
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51.

52.

53.

54.
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56.

57.

S8.

59.

60.
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Choose the correct comparative degree of ‘happy’
(A) happier (B) happiest
(C) more happy (D) most happy

Choose the right question for

She sold all the articles for no profit.

(A) Did she sell all the articles for no profit ?
(B) Did she sold all the articles for no profit ?
(C) Does she sell all the articles for no profit ?
(D) Do she sells all the articles for no profit ?

Choose the active voice of

Saina had been supported by her maternal aunt. E@
(A) Saina supported her maternal aunt. H
(B) Saina’s maternal aunt supported Saina.

(C) Saina’s maternal aunt had supported Saina.

(D) Saina’s maternal aunt had been supported by Saina.

The saint chanted, “God is great.” The indirect speech of this sentence is
(A) The saint said that God is great.  (B) The saint told that God was great.
(C) The saint said why God is great. (D) The saint said whether God is great.

The word for the phonetic transcription / I'mi:diotli / is

(A) emidiately (B) immediately

(C) imitate (D) immediate

The number of vowel sounds is

(A) 8 B) 12

(©) 20 (D) 24

‘The knowledge can be stored in mind permanently.’ This principle is termed as
(A) Aptitude (B) Gradation

(C) Concreteness (D) Selection

Words that are understood and constantly used form

(A) limited vocabulary (B) active vocabulary
(C) passive vocabulary (D) constant vocabulary

Dr. West’s comprehension test was

(A) non-linguistic (B) linguistic

(C) comprehensive (D) structural

Variables can be interchanged in

(A) Simple substitution (B) Compound substitution
(C) Grammar (D) Phrases

‘New words at early stages should refer to objects and actions which can be shown and
demonstrated in the classroom’ is a precaution of

(A) Structural Approach (B) Situational Approach

(C) Bilingual Method (D) Direct Method
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49. g goA o fergme anfe 7
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SECTION - IIT
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Plosives consonants are :

(A) |p,b,t,d| B) [t |

(C) [m,n,n| D) [£v,6,0]

Which is palatal consonant ?

(A) |h] B) [0]

© 1jl D) [1]

The phonetic symbol for underlined letter in the word ‘tile’ is :

(A) er] (B) [or]

(C) [AI] (D) ar]

Phonetic transcription for the word ‘hang’ is : -
(A) |heing| (B) | heen| =
(C) |heng| (D)  [ham |

Phonetic transcription for the word ‘jester’ is :

(A) | dgesto(r) | (B) | jesta(r) |

(C) | dzersta(r) | (D) |jelsta(r) |

Which one of these is not related to passive vocabulary ?
(A) words are recognized.

(B) words are understood.

(C) words are often used in speaking and writing.

(D) words are never used in speaking and writing.

Motivation is a process of :

(A) arousing interest (B) maintaining interest

(C) controlling interest (D) all of these

Communicative approach to English teaching means :

(A) Informal approach (B) Group competence

(C) Communicative competence (D) Communicative appearance
How many components are essential in the process of communication ?
A) 3 B) 2

<€ 4 D) 5

The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan

(C) England and America (D) China and Japan

Multilingualism in classroom can be used to : (Choose the irrelevant option)
(A) teach all subjects

(B) teach about diverse cultural groups

(C) teach only languages

(D) teach the lesson of equality between cultures
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Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught earlier.

(B) Teaching afresh what has been taught earlier.

(C) Suspending the part of learning the new items.

(D) Preference to reinforced practice of forgotten parts introduced earlier.

Which one of these is not a challenge of teaching English ?
(A) Determining the goal of language teaching.

(B) Several methods in language teaching.

(C) Large class size.

(D) None

Written Tests and Examinations are not meant to test : E{%
(A) Vocabulary (B) Translation B
(C) Pronunciation (D) Composition

The concept of evaluation was introduced by :

(A) Dr. West (B) B.S. Bloom

(C) Thompson (D) Wyatt

Read the following passage and answer the Question Nos. 76-80 :

“Wind energy” is derived through a process where wind is used to generate mechanical
power or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used for specific tasks (such as grinding grain or pumping water). A
generator converts this mechanical power into electricity.

¢ ’ may be an appropriate title for the given extract.
(A) Kinetic energy (B) Electricity
(C) Generator (D) Wind energy
Fill in the blanks with appropriate linking devices which are given below : (for Q. Nos. 77-78)
Wind is used to generate mechanical power electricity. (According to the
passage)
(A) either —or (B) but—also
(C) neither — nor (D) so—as
Turbines generators are used to convert energy. (According to the passage)
(A) neither — nor (B) both—and
(C) but-—also (D) as-—as
A generator with turbines mechanical power into electricity.

Choose appropriate verb to fill the blank :

(A) convert (B) have converted

(C) converts (D) are converting

Mechanical energy and electric energy the different forms of energy.
Choose the correct option to fill the blank :

(A) are (B) is

(C) have been (D) was
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Read the following stanza and answer the questions : (Q. Nos. 81-82)
What this life if full of care
We have no time to stand and stare ?
No time to stand beneath the boughs.
And stare as long as sheep or cows.
81. Choose the correct rhyme scheme in the above stanza :

(A) abecd (B) abba
(C) aabb (D) baba

82. Which literary device is used in the second and third lines of the stanza ?
(A) Alliteration (B) Simile
(C) Metaphor (D) Personification

83. In Saxon strength that abbey frowned. o
Which figure of speech is used in the above line ? E@
(A) Metaphor (B) Simile
(C) Personification (D) Epigram

84. I must confess that it my quest, I felt depressed and restless.
Which figure of speech is used in the above line ?
(A) Personification (B) Assonance
(C) Metaphor (D) Epithet

85. Thy soul was like a star, and dwelt apart.
Choose the correct option of the figure of speech which is used in the above line :

(A) Personification (B) Metaphor

(C) Pun (D) Simile

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 86 & 87 :
86. 1 swim across the river when [ was young. (ability)

(A) can (B) may

(C) could (D) might
87. Ithought he be at home. (possibility)

(A) might (B) may

(C) can (D) will

88. Prohibition is ‘gall and wormwood’ to distiller.
Here ‘gall and wormwood’ means :
(A) helpful (B) hateful
(C) hopeful (D) wonderful

89. He ‘stood his ground’ against adversary.
Here ‘stood his ground” means :
(A) stand still (B) did not fall
(C) maintained his position (D) maintained his game

90. Petrarchan Sonnet is also known as :
(A) English Sonnent (B) Italian Sonnet
(C) French Sonnet (D) Shakespearean Sonnet
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(C) IJ=€ (D) ot

77. WMISI SIS IfenTHIS J ;
(A) Hgdd (B) 4Y<H

(C) wsdie (D) niF=

78. ‘I3’ HEE T EI-NIGI HEC J

(A) wEIERST (B) M3
2 - Ej%
©) I (D) Fu i
79. ‘I¥TE WI< T AHTGIES e 9< ¢
(A) 39329, A9'=d (B) 339, A&al
(C) 3I3<d, HITH (D) 339, TTH

80. ‘=Y Hyu< T SIS :
(A) =9H (B) I
(C) WHIe (D) It

(81-85) I fod afe-du U A AT B &89 81 3 8539 = €33 @ : -
Har fde Jamg = J= S,
T2 YRS AT T &Y |
W IQ AIAI 3T HS UR,
T YR & 391 b & |
I fSare 7S w8t |
et fag I niz gt &t |

81. Cazafe-deTraad:
(A) HI&T (B) feuat
(C) frgdst (D) &3

82. Cazafe-geT and:
(A) "IN (B) »<93IH
(C) dg='gH (D) fdargan
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8s.

86.

87.

88.

89.

90.
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Saz Tfe-de Trafe-gudJ:
(A) T3 (B) HIBEHT
(C) =9 (D) wIT
‘I HEC T I J
(A) EE(@ (B) fagqurat
© gJg (D) oI
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‘Tt 32 °HE wigrdhof® &t 3 fog e wee wigrdho” T S »dg J

(A) gt It Sgdtort

(C) »g'gwd (D) Je

~ -

ofg yr fyat, 9979 3 IAEY e T AT ndE 9L
(A) 7 faR T Jg IS 993 JT YT THUC |

(B) < IR T Jg US We IJT U TR UC |

(C) TEfHT TS ETFT PHUISH T3 |

(D) A fIRTJgUS gg3 JE I TH A I3 |

Ut © fug® Aeg faa3 75 2

(B) »igt Ehoff Uit

i

(A) §.§ B) €.€

©) &, (D) i,
Wizrfismugfes IgneE T A for | (Fa7 HU=d™ 9Sa &7 Y37 d9)
(A) e (B) g

(C) UAI=Es (D) UgdvE
St fanfas J :

(A) # B) =7

© w D) =

‘g% | 876 fast Ot g vt 1°

ISUSCEEICERICIS R

(A) YHORHI T (B) &IENI T

(C) femim<a== (D)

wrfamregd @ d
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62.
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64.

65.

66.

67.

68.
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WS — 111
GUNL— 1T
doxRIcl

L V{SHL §E 30 WAL 8.
€38 UL ovellol Al 5 (v 8.

AlArel 58 Rietel wgld [Qenel sl e ¢

(A) VA (B) oyl

(C) -uzdlsrul (D) Mlovse
[QenaAAl seuA1Gad [Asuiadl Hi2 56 WA HEEIY 61 © ¢
(A) dldisud (B) U

(C) ™d (D) G

Q5200 [ (R g ld e ARl 565 oliotd =L & 9

(A) A usgld WRlHs dotss Gl 8.
(B)  “drHi~u2ll [ARre” ol Gyl
(C)  cunREl-l A2 sl A0l

SR -
(D) Rl g1t [Rie1al AL 209 €. ﬁ"%
Hicdld WS 61L0s €A 8, 24 Sl USRL UL ES ¢

(A)  [BacHs e (B) 2u(ogs el

(C) =2Uegs cuL (D) slaladl et
HICUML (QaLBLAl UAH $q sUL 6 ¢

(A) ALl (B)  A¥-llcHscll

(C)  adelRs Gulord (D) AUl 24 UARA
Al HigewL Slrlel-Al A1 51 SA D ¢

(A) 3L, U, QUi Al (B) 3L, A, Qi $U
(C) AR, U, A, A (D) AL, AuiA, did, U
AR 28R4~ 31, ULAATHL SLAL UL AL 8 9

(A) 2URSLER (B) 2lasgi

(C) ¥R (D) USRS

LA YRAs AL HOLH S A=Al $2L € ¢
(A) sl UELA s3llAL (B) ei-vel 2l |zl

-~

(C)  2usel a2l (D) URIEAHL Al HE2-AL
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-~

‘sAal A sul-l sell © il AR U Qe AL sleaRizts-L userdil S 218 2L
oLl

(A)  UA~dl (B) sl

(C) WPl HIHA (D) Rl

HeisA Fs10r 22B1s AAEAML AR 58 s olloidAL AHEAL AU S ¢
(A)  atlds uglil (B) aildls el

(C)  HeAls AUluAl (D) U dd WRad-

(Flotel Us1RAL UL HAULEL §R SR HI2 Bl USIRAL WAL 3UAL SRAHL UL &
(A)  @llseLusR (B) UELUSR

(C) 2s1GRUsR (D) SlsLUSR

2351 olrllell SAZIHL ARAAMIRIL 56 215 sAZLAL AHIALL Al 2L ?

(A) el assl sl (B) 2yl Yo sl

(C) U5 YoH sl (D)  Asel Yo s

L, A SIACA HiZrl HEAUIS $H HIUESHL ARARI] 52U el25lAl AL AL ¢
(A) AR (B) 25l
(C) ACERSIN (D) Ygadl

o[z otrlladl ad ARl 58 oot AEAN w4l AL UL 8 ¢
(A)  Sqil, AAERL A UM (B)  [dnard, SAl 2 UHIAL USR,
(C)  UHALUSR, [Avarg 2t [Qenelld (D) ([Aveird, Sqil 24 [AsiiiBist,

ARl 21848 BRaUREL WHA 516 218 WRIRS sIRQL LUl

(A) S M (B) &E&d

(C) sl (D) =A™ m
b

AL A LA LR WA $HIS 76 2l 78 G @il :

Yetsll Hall HirdlAl arasdRHL HetaAl L oyd 8. R0is s8dl, “§ ARSHL uBL URI

YRetsl, 2L S32L, SRQLS dHAHL ieell Albd © 5 d 2Rl e UL AMIRANM 2] ol vRl.”

@5l “Unto The Last” YasHizll alellona ucuaedl Uzen Holl edl. dldl 24 oleid syal

Y5l ald-l s dlsi Bet 29ad Hig-l U6l HOdL €L 6. AHRUL, HELHRA 24 ¢Hldd

oyell UALA IRl A5 251ell AAAHL HeTaAL GLIL GLYRAL 6. Y AL AL 245 €Sl Hi2

NN

TRBUEIRS Al &



PL-2 (63)
76.  HirAlAL 2)AAELSARHL Sl ALLELA Hecd L & ¢
(A) Wi (B) [l

(C) Rl (D) &R

77, ‘oLl Acuel UL HOW edl.” disuHl ‘Ui’ 2oe-Al A g2l wsl.

(A) U+ U (B) U + 2AAS
(C) U+ A (D) AU+ VRS
78.  2ANeL el 53 s 2l s ¢ EJE
. A B
(A)  29a UscRe HeTd (B) sl 3ol
(C)  a-uRRlL (D) dzsld

A2 AN YEUUAL AR UHSHIS 79 2l 80 Btz @Ml :
A8l IAHL M AR HOL A HAL

531 AL 224 3[dU2 BUR HOL 4 MAL

CIRL @l HURAHL AL YluAL £ R,

5| 2AL HIZLHL ¢HlAL 2AAR HOL A O
YRR RIS S Al &L,

L SUtl USRL, AL HlsL Aoy HOL A HUL
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5| 51 1L 5012 HOL A HOL

AU AL § DA AR 5 AMARL
MLEl UFRHL 516 SHUSR HOL A HOL
da-l Hnall Hej o=l @B 21,

R AL Y01 US| GUEHR HOL A HOL

79, 5[d AL 8GRl @eldl U 53 6 9
(A)  Hlsl Ao B) -l el
(C) Wil sl (D) Ul AUSRL
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(B) MUl UL
(D) &l ASRL

el ollel, ‘A vAYR AMUS 777 Al SULUSRAL YA ¢

(A)  &ls A
(C)  Y3MARS UM

(B)  UNe U™
(D) AUUS YA

“OLUIR A8 HIZ (USR] &R 6. AL SULACASR 6 ¢

(A) 34s HEsR

(C) GuHl¢AasR

‘YU UUCDNL B $UL 696, GLARL E ¢
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©) Rkl
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(D) AUcRs 2SR
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(B) el ﬁ’g
(D) ¢Rel

“SHAL AU GLEl” ALz sUL USIR-AL BalameL & ¢

A)  Alaus Bulazmel
(C)  Sqas Baldamel

(B) s [Bulazmel
(D) AHAUUS [Fuildamel

‘A ALS slgl el 97 ALl SULUSIR AAYS © 9
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(C) RuwHaRs
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‘o QA R0AL Al BALUSRAE ¢
(A) =usuel
(C) el
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(D) sHL
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(A) dged
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SECTION-1V /@Ug -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.
30 QU 1 § IU@vg 31id 1V (a) T e fagm wa IV(b) amiisie 1eeH & | gFi 3T@veEl &
T H 60 Sgiahed I T 7 |

gdraeff i IV (a) TG qer fomm 312t IV(b) amiises 15—, fSaet ==m SAietg segT - o
P 2, 5 @ forell weh Sumvg 1 g1 8 W@ @t 60 I HI SRR |

SECTION-IV(a) / @YE — IV(a)
MATHEMATICS AND SCIENCE /7ot eI fagm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

TS | $o 60 T 7 | T sreaffai 3 ga forvar w1 = fopam 2 32 wf) wem e arfemd €

91. The longest side in a right-angled triangle is called :
(A) Hypotenuse
(B) Perpendicular

(C) Base E@

(D) All of these

THH S § T et YT AT 2 :
(A) i

(B) =

(C) 3Tur

(D) I @t



B

92.

93.

94.

(66) PL-2

If in the given figure PS||QR, then the value of ZQPS is :

Q ' R
(A) 36° (B) 90°
©) 354° (D) 100°

Ifg fed ™ e W PS||QR &1, @ ZQPSHIAME :

Q ‘ R
(A) 36° (B) 90°
©) 354° (D) 100°

The sum of all the interior angles of a pentagon is :

(A) 360° (B) 500° ,
(C) 450° (D) 540° 5’%
(A) 360° (B) 500°
(C) 450° (D) 540°

The radius of a circle is 6 cm and P is any point which is 10 cm away from the centre. The
length of the tangent drawn from P to the circle will be

(A) 6cm (B) 12cm

(C) 8cm (D) 10cm

Teh I %1 o1 6 Hft 2 AT Phig frg @ S ohg & 10 Tt gT R | P & o W @il 718 TR
i s et

(A) 6o (B) 129

(C) guHt (D) 10 @t
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96.

97.

98.

99.

(67)

In a right-angled triangle, if its sides are 15 cm and 8 cm perpendicular to each other, then
its perimeter will be

(A) 40cm (B) 38cm

(C) 46cm (D) 50cm

T FHHI IS H, AfG 3Eeh! YSTY 15 HEHIX 3R 8 HEHIS Teh G o AFaId_ &l, Al Sl
9T BN

(A) 40 Tt (B) 38
(C) 46Tt (D) 50 [
The arithmetic mean of 1, 2, 3, 4, .... n numbers will be :
A) 5+1 B 1
(A) 5 B —
n n—1
© 3 D) =5
1,2, 3,4, ....n GEAT3T T GHT=L 41T BT :
n n+1
(A) 2 +1 (B) 7 E{%
o) > p) .
© 3 D) 5
The difference between the upper limit and the lower limit of a class is called :
(A) Frequency (B) Mode
(C) Class size (D) None of these
Toreft ot <ht ot T qen et i 1 3= HEAran §
(A) ST (B) agaaa
(C) =itwm (D) 3TH T 1S T
The co-ordinates of the origin are :
@A) (1,1 B) (-1,0)
© L= (D) (0,0)
e foreg o fcames @
@A) (L, 1) B) (1,0
© 1,-1 (D) (0,0
If a dice is thrown once, then the probability of getting a number greater than 6 is :
1
(A) 0 ®) 7
2
© 1 D) £
Ife Teh ITET Ush SR IDTAT AT &, ol 6 T T T&AT 37 hY TRBT 2

(A) 0 (B)

C©) 1 (D)

AN N |—
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101.

102.

103.
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Which of the following statements is not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurements, etc.

(B) Mathematics has its own language terms, concepts, formulas, etc.

(C) The knowledge of Mathematics is not logical.

(D) The knowledge of Mathematics is the same in the whole world.

Tt 3 S @1 she TIfTA <l Tepfd & Heiferd TR 7

(A) TIOTd T T3, T, HIOHT 3 7 e feran S B |

(B) IO shY YU+t W1 U, Weod, gl JTfe B § |

(C) TIIOTA ST T diTfeheh &1 21T & | 5,%
(D) TIfOTA ShT T & SHTd § HHH &9 <l 8T § | =

“Mathematics is the language in which God has written the Universe.” This statement is
told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“TToTd o WTNT 2 ST qeveR 5 Ul ST A1 SRIve oh for@ fan | |7 9g e fohe e ¢
(A) refiferan (B) T

(C) FTE (D) fored

According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity of the state.”

This statement corresponds to which value of Mathematics ?

(A) Disciplinary value (B) Social value

(C) Aesthetic value (D) International value

OferE < STER — “TIora i 3=fd qe ghg o hl FrI=TaT ¥ FEfd 8 |7 I8 e T
fra e aTefa g ?

(A) ITRMEATH ool (B) @I qed

(C) Hi=eAcHe Hed (D) ST e
The author of the book “GANITA SAR SANGRAH’ is :

(A) Aryabhatta (B) Shri Dharacharya
(C) Pythagoras (D) Mahaveeracharya
T AR T8’ ATHeh T o oT& @

(A) 3TRiwg (B) *ft e

(C) UTSYUNTRH (D) TEERET
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104. In which method by moving from ‘Particular to General’, we generate formulas in
Mathematics ?

(A) Deductive Method (B) Lecture Method
(C) Inductive Method (D) Project Method
form fafr & “farfre & wmm=r <6t 3T ST 5T W TfvTd o <31 oY AT id & 7
(A) o farfey (B) =mEar fafy
(C) AT fafy (D) 3ot farfeyr
105. The knowledge of which of the following is most helpful in painting ?
(A) Geometry (B) Statistics
(C) Arithmetic (D) Function
frferfaa & @ foraet 7 Famrehen § waifies ggmes § 7
(A) T@wToE (B) Hifeashl
(C) IR (D) e
106. Which of the following is not an evaluation method ?
(A) Interview (B) Preparation
(C) Questionnaire (D) Check-list
fomfefiad 3 & S o T Yot T A R ¢ =
(A) WTEIThR (B) R
(C) TeATEe (D) <%-fer=e
107. The evaluation process is related to :
(A) Educational objectives (B) Evaluation method
(C) Learning experience (D) All of these
AT Tk Hefed grdt & :
(A) Toreqor ezt & (B) Houiehd gfafr &
(C) g 3va & (D) =afi g

108. The purpose of diagnostic testing is :
(A) To guide learning methods.
(B) Classification of students according to difficulty level.
(C) Detecting lack of achievement in particular subject.
(D) All of these.

FrgmTees Tfiequr 1 3T B -

(A) IAIT gl o TRt & |

(B) hISTS T h MR T BTAT T ITTehT0T LT |
(C) o oy o Iuetfed it ot a1 I eI |
(D) |t |
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109.

110.

111.

112.
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Which method follows the principle of a process of combining different statements or

parts to get something new ?

(A) Lecture method (B) Heuristic method

(C) Analytic method (D) Synthetic method

fopmr fafar & 3o 721w S & ford fafer= et = win < @ <t afshan & fagra

T BIT B 7

(A) = ffy (B) wifees fafy

(C) fergetwor fafey (D) Helvor ferfy

If (\/3)° x 92 = 3% x 33, then the value of x is : -
(A) 4 (B) E’%
© o6 D) 7

afe (\/5)5 x 92 = 3% x 3\5@,ﬁxwmé :

(A) 4 (B)

€ 6 (D) 7

1 1
If (x - —) = 8, then the value of (xz + _Zj is :
X x

(A) 64 (B) 68
(C) 66 (D) 4354
Zlﬁ(x—%)= Sﬁ,ﬁ(xvaé)TﬂﬂF{%:

(A) 64 (B) 68
(C) 66 (D) 4354

The factor of {x* — (x — y)*} is :

(A) y(2x-y) (2x* - 2xy +y?) (B) y(2x+y) (2¥* +2xy+y?)
(C) x(2x—y) (2x* —2xy—y?) (D) x(2x+y) (2x* + 2xy +y%)
= (x - y)*} B IETE R ;

(A) y(x—y) (2x* - 2xy +y?) (B) y(x+y) (2x* +2xy +y?)

©) x(2x-vy) (2x2 —2xy — yz) (D) x2x+y) (2x2 + 2xy + y2)
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114.

115.

116.

(71) B

The sum of two numbers is 22 and the sum of their squares is 404, then the product of
those numbers is :

(A) 44 (B) 80
(C) 36 (D) 40
Sl T3 6T AT 22 B 3T 376 I 1 AT 404 B, A1 37 TEAT3T 6T TGS & :
(A) 44 (B) 80
(C) 36 (D) 40

The sum of the digits of the minimum number by which 1800 is multiplied to get a perfect
cube number is :

A) 2 (B) 6
© 5 (D) 4
g = T f8 1800 Y 0N i 9L Teh Yot T HE&AT I &, o 37ehi 1 AN &
(A) 2 B) 6

-
(O (D) 4 E@

1 1
If a sum of money becomes 20 of itself in 4 yearata particular rate of simple interest, then

the annual rate of interest is :

(A) 5% B) 7.5%
(©) 10% (D) 2%
aﬁémmwma%@ﬁ@ﬂam%aﬁﬁaﬁw%iﬁm%,aﬁmaﬁaﬁ%a%:
(A) 5% B) 7.5%
©) 10% D) 2%

In how many year(s) will ¥ 2,000 become < 2,420 at 10% per annum compound interest ?

(A) 2 years (B) 1 year

(C) 3 years (D) 2% years

10% aTTeh Fshafg ST W 2,000 foha o 8 % 2,420 &1 STET 2
(A) 2 (B) 1%

(C) 3=9 (D) 2%



B

117.

118.

119.

120.

(72) PL-2

If the selling price of 7 articles is equal to the cost price of 6 articles, then what is the
percentage loss ?

(A) 7%% (B) 14%%

(©) 13%% (D) None of these

Ife 7 g3t 1 forsha qoa, 6 TEqati o v oo o e 21, ot feba wfersra =i &nft 2
(A) 7%% (B) 14%%

(©) 13%% (D) T & HIE &

A bag contains ¥ 20, ¥ 10, ¥ 5 notes in the ratio 3 : 4 : 5. If the bag contains T 1,000 in
total, then the number of ¥ 5 notes is :

(A) 32 B) 25

(C) 24 (D) 40

Th AT 20,310,353 :4:5% AT H T | A It H et &4 T 1,000 &, AT 5
o AT <hl T % :

(A) 32 (B) 25

(C) 24 (D) 40

If the sum of the numerator and denominator of a fraction is 55 and the value of the

.. 3 .
fraction 1s g, then the fraction is :

g =
2 10 4

(A) 35 B) 713
©) % (D) None of these
Ffe fopeht fir=T o5 3731 3T &L 1 AW 55 %wﬁmaﬂm%%, afi= g
20 10
(A) 335 ® 13
© % (D) FHARE
If a transversal intersects two parallel lines, then each pair of corresponding angles is :
(A) Half (B) Double
(C) Equal (D) None of these
fe weh Tereien Y €1 wHiaR {3t i fdese s, Al W <hIvT ol Tcdeh I BT R ;
(A) 3= (B) I

(C) =T (D) T ¥ s Tl



PL-2

(73)

121. Laboratory method is based on which principle ?

122.

123.

124.

125.

126.

(A) Learning by seeing (B)
(C) Learning by rote (D)
wTaTTer fafyr fore fagra W smenfa @ 2
(A) CEHHIE (B)
(C) Teht HiEH (D)
Synthetic fibre among the following is :

(A) Nylon (B)
(C) Wool (D)
frfafiga ¥ @ aecifva W g

(A) TEAN (B)
(C) > (D)
The symbol of potassium element is :

(A) P (B)
(C) Pt (D)
T A T el &

(A) P (B)
(C) Pt (D)
Chemical formula of aluminium nitrate is :
(A) AINO, (B)
(C)  AL(NOy), (D)
U ATgee S THRIT O |

(A) AINO, (B)
(C)  AL(NOy), (D)

Learning by doing
All of these

ek YiEHT
gt

Cotton
Silk

Al (NO,),
AL(NO,);

Al (NO5),
AL(NO,);

Which of the following mixture can be separated by the winnowing method ?

(A) Mixture of grain and husk

(B) Mixture of grain and pebbles
(C) Mixture of wet sand and pebbles
(D) Mixture of sand and water

frferfaa o & 1 an frsror frsarem fafyr gro geres foren S aspar 2 2

(A) ST=ToRUT QT 38 1 T
(C) et Tt e e 1 firsmor

(B)
(D)

Synthetic indicator among the following is :

(A) Litmus (B)
(C) Chinarose petals (D)
frafafgd & @ aveiva o 2

(A) foemm o (B)
(C) e i Tgfeat (D)

ST=IhUT qAT Thehg h WA
o) qem arht = faysor

Turmeric
Phenolphthalein

Sl
FHTI e
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128.

129.

130.

131.

132.

The pair of green-house gases is :
(A) 0O, CO,

(C) N,,CH,

Fa-EiE HIm e

(A) O,,CO,

(C) N,,CH,

(74) PL-2

(B) CO,,N,0
(D) 0,,H,0

(B) CO,,N,0
(D) 0,,H,0

Audio-visual teaching aid among the following is :

(A) Radio

(C) Television

frefafaa & @ yer-goa e aem &
(A) =

(€) e

(B) Chart
(D) Blackboard

(B) =@
(D) IATHIL

i

Which bacteria is found in roots of leguminous plants as symbionts ?

(A) Rhizobium

(B) Bacillus

(C) E.coli (D) Achromobacter
fEHTE i <l TSl | i H1 SHaT] FEsiia o &9 H 9&1 91l g ?
(A) TSSITH (B) difie™

(C) 3.HITS (D) UphHEER
Which edible part is modification of stem ?

(A) Turnip (B) Carrot

(C) Sweet Potato (D) Potato

= 0 9 6 | WISy vered T 1 SR 7

(A) s (B) TSR

(C) i (D) 3Tl

Which of the following is a simple tissue ?

(A) Xylem (B) Phloem

(C) Sclerenchyma (D) None of these
1 | T T S &

(A) STEeH (B) ICH

(C) TheFHIEHT (D) ¥ & 1S el

Which of the following is not an air pollutant ?

(A) Carbon mono-oxide
(C) Methane

1 © € 9 91 Igu TRl @ ?
(A) IS THI-3TFTES
(C) T

(B) Nitrogen oxide
(D) Oxygen

(B) TSIISH ATHTSS
(D) AT
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Sacred groves are found in
(A) Khasi and Jaintia hills of Meghalaya
(B) Aravalli hills of Rajasthan
(C) Western ghats of Maharashtra
(D) All of these
g 39eH I ITd &
(A) T i @ 9 SRfn ugiieat §
(B) TSTEYM i WG gaid et o
(C) WERIY o ufyeH ore o
(D) sHEd

Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis

(B) Corynebacterium diphtheriae

(C) Mycobacterium leprae

(D) Neisseria gonorrhoeae

I & Sfam] & e 8 el T grar R ? |

(A) HTEhHISFRITETH A E@
(B) SRS fewdm

(C) IR A

(D) et e

Which type of sebaceous glands present in human skin ?
(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccrine
T el <hl deltd TTET i & Tehr ol &1l € 7

(A) TS (B) i
(C) BRI (D) T
Disease caused by deficiency of Vitamin A is :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
faefimTA) R FfaeR aenan e :

(A) Tt (B) -
(C) whell (D) TeheH
In which phase of cell cycle, synthesis of histone protein occurs ?
(A) G,-Phase (B) S-Phase
(C) G,-Phase (D) M-Phase
HITITRT =I5k <hl I E T § & M o1 Teeryur g ?
(A) G,-SreEAT (B) S-Hma®E=1T

(C) G,-STaEd (D) M-TEeAT
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When was the Family Planning (Family Welfare) Programme started in India ?
(A) 1947 (B) 1951

(C) 1958 (D) 1960

A | IHER RIS (TER shemT) shishH shi SE3TTd e g8 off ?
(A) 1947 (B) 1951

(C) 1958 (D) 1960

Which of the following hormone supports pregnancy ?

(A) Insulin (B) Adrenaline

(C) Melatonin (D) Progesterone
frfefaa o @ s |1 gWiF JHaal § 98 & ?

(A) wfe (B) ufgref

(C) TweIA (D) JSRETH

Which of the following is not an example of Kharif crop ? -

(A) Cotton (B) Soyabean 2{%
(C) Maize (D) Pea B
frefefaa § @ o |1 @l Sl HEe i 3T 6 8 ?

(A) HE (B) @A

(C) Haehl (D) "X

Which of the following is not a scientific teaching method ?

(A) Anecdote method (B) Evaluation method
(C) Psychophysical method (D) Questionnaire method
fr=feriaa o & = it weh e freor fafar adi 2 7

(A) e fafy (B) R fafy

(C) wIelEe fafy (D) weATEe fafy

The main objective (aim) of evaluation is :

(A) Removal of students errors.

(B) Measurement of students achievement.

(C) Give promotion of students.

(D) Diagnosis and treatment of learning deficits.

oo ol &7 3639 &

(A) Toremfern < gfeat freprem |

(B) Turemfeian shi 3uAfsdr shi T |

(C) Tnenfef=i =vt W=ifer Wg T |

(D) Hi@a i o} 1 e Td IT=R T |

Which teaching aid is not included in the audio-visual equipment ?

(A) Movie (B) Television

(C) Laptop (D) Epidiascope

i H freqor-TgTere A, e -gva Sushtor | afthferd TE 8 7
(A) Tt (B) <efifasm

(C) <iue (D) fem-freme
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Correct decreasing order of friction forces is :

(A) rolling, static, sliding (B) rolling, sliding, static

(C) static, rolling, sliding (D) static, sliding, rolling

TYUT FAT T TR Tedl FH G

(A) e, wfaes, adf (B) <efeh, Tdf, ifaes

(C) wiferp, Arelep, adl (D) e, &ff, AAeh E’E

An object is moving on a circle of radius R. When it completes half circle, then the

distance and displacement travelled by it will be :

(A) =©R,R (B) 2nR,R

(C) mnR,2R (D) 2mR,2R

T ] R Frean o o0 W IR 2 | 99 98 AEgd U H 8, 1 369 GRI 0 i g g @
forRmm ‘&ﬁTIT :

(A) =©R,R (B) 2nR,R

(C) 7R, 2R (D) 2mR,2R

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of radiation.

(B) becomes cold by the process of convection.

(C) Dbecomes cold by the process of conduction.

(D) does not become cold.

ARSI % Teh HT ol STTEHSHH h RTCl H IR AT & | $HeRT g8 140
(A) fafertor <Y wfsran o R 31 8 St |

(B) GoEH shi TSR o ShI0T 31 81 SITQT |

(C) =ITer <hY 9fsha % I ST &l S |

(D) ST& &l |
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The value of x in the given diagram is :

Normal
Incident Reflected
ray ray
30°
Plane Mirror
(A) 15° (B) 30°
(C) 90° (D) 60°
T2 T T | x o1 WH BT
sifirers
Fmafea qafda
fotor feptor
30°f y -
B
THA gl

(A) 15° (B) 30°
(C) 90° (D) 60°
The frequency of a sound source is 50 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(C) 100 (D) 200
foreft et & <l 3Tmaf 50 Hz @ | 3896 2 s § 7oA hl e g
(A) 25 (B) 50
(C) 100 (D) 200
LED emits Light :
(A) Only green colour (B) Only red colour
(C) Only yellow colour (D) All of these
LED ShTST 3cHofd hidl &
(A) A B (B) hael o T
(C) haa et T (D) A mft
Which of the following is not a member of the solar system ?
(A) An asteroid (B) Meteors
(C) A satellite (D) A comet
fr=ferfaa o & # @R ufer w1 ae= T8 # 7
(A) ¥eue (B) 3TN

(C) IR (D)  #Fehq]

PL-2
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SECTION-IV(b) / @UE — IV(b)
SOCIAL STUDIES / 9ok STE

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

@S | Fo 60 T & | T 1Rt 3 5o o w61 = forerm 8 38 weft wroat st tfamd 2
91. What was Khud-kashta and Pahi-kashta in Mughal period ?

(A) Types of Revenue (B) Types of Crops
(C) Types of Administration (D) Types of Farmers
HITeTehTel H GEeh1ed d UTfgehred il I ?
(A) TSRE % TR (B) %HA! & TR
(C) ST % YR (D) Teram™l & 9K
92. What was the relation of “Manzil-abadi”, “Sipah-abadi” and “Mulk-abadi” during the
Mughal period ?
(A) Part of Book (B) Portion of the Population
(C) Part of Revenue (D) Part of Administration
PTeAhT § “HiSeT-3Tmard)”, “Riag-3mardt” 9 “geeh-3Tandt” =1 Tey fohad o 7
(A) &I % T (B) SIFEEAT % I
(C) TSTES o | (D) ST 3 AT
93. Who got the book published under the name “Stripurushtulna” ? E,%
(A) Tarabai Shinde (B) Pandita Ramabai H
(C) Jyotirao Phule (D) Rashsundari Devi
geSgerT T | fohare ferae yemTfiTa Harg ?
(A) dwTs Rig B) dfed T
(C) e ot (D) gl <l
94. When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?
(A) 1941 (B) 1943
(C) 1945 (D) 1947
TETSE h T H GHHTAL TR (Sfd TTHR) shi TATIHT el < 71 ?
(A) 1941 (B) 1943
(C) 1945 (D) 1947
95. Which word is not given in Preamble of the Constitution of India ?
(A) Belief (B) Faith
(C) Worship (D) Language
W o Hige sh1 SefSreht § S o1 wreg & feanmen 2 ¢
(A) foreams (B) wd
(C) 3u™E-r (D) w1

96. When was Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(A) 2010 (B) 2011
(C) 2013 (D) 2014
I § 9 forskar (Shifereht wxegor 3R g fosra fafremm) srfafem e e gen ?
(A) 2010 (B) 2011

(C©) 2013 (D) 2014
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“The Idea of Residual Powers” provision in India is adopted from which Country’s constitution ?

(A) British Constitution (B) United States Constitution

(C) French Constitution (D) Canadian Constitution
“srafirse srfemn o1 fagia’ 1 SraeT wra | forg o % d@fgam | o mn g ¢

A) fafes afagm (B) 3Rt & wfaa™

(C) %™ & \fgaH (D) TSI % Flae™

In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?
(A) B.D.Jatti (B) V.V.Giri

(C) Zail Singh (D) N.S. Reddy .

I T TgHd BEEE 37T TEHG hl Jog o S1G hIIaTEeh Usgdid o &9 H fohd S fopam ?
(A) .. s (B) .. it

) S fus (D) TH.wH. &

Which two states have same number of Lok Sabha Constituencies ?

(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka

(C) _Andhra Pradesh, Rajasthan (D) Punjab, Odisha

Top &1 Tl 1 SAreha T et - Hl Fe e R 7

(A) ITEE, IES (B) oI, HACh

(C) 3ATY T, TTEAH (D) uSE, Jifgem

Toll free Helpline Number for Children who are in need of care and protection is —
(A) 1095 (B) 1096

(C) 1097 . (D) 1098 E@

Al <! Ffawm Td ueg o e f:3[ch godatrs T g — i

(A) 1095 (B) 1096

(C) 1097 (D) 1098

In India which Constitutional Amendment determined the size of the Council of
Ministers ?

(A) 81 (B) 91
(C) 101 (D) 102
TRd | fopm afeem gened gy afEdie 1 AR fHuffa e w2
(A) 81 (B) 91
(C) 101 (D) 102

In 1989 which Committee recommended Constitutional recognition for the local
government bodies ?

(A) P.K. Thungan Committee (B) B.R. Mehta Committee

(C) Ashok Mehta Committee (D) Sadik Ali Committee

1989  ferg |fifa = T SImed o el ol GaaTieh g1l SgH hid shi fawrir 1 ?
(A) .. g afifa (B) f.3R. vgar Afafd

(C) 91 Hgarl afufd (D) wfees 3reft wfufa

‘Abolition of titles’ is a part of which Fundamental Right ?

(A) Right to Equality (B) Right to Freedom

(C) Right Against Exploitation (D) Cultural and Educational Rights
IUTiernt o 37’ fera Hifere Stfershm o fam 2 7

(A) HHAT T JfUHR (B) TEAEdT Sl SRR

(C) YT % foreg AT (D) TTEhieh 31T Sferh TR
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104. Identify the correct group of Scheduled languages in the Eighth Schedule of the
Constitution of India.

(A) Bengali, English, Sanskrit (B) English, Hindi, Sanskrit
(C) Santhali, Hindi, Sanskrit (D) Gujarati, Marathi, English
T o G i et STy ¥ srgfaa wmwist & Td Tyg i vgaH |
(A) S, ST, Hpd (B) It f&dy, wepa
(C) weredt, &, wepd (D) TS, wEt, St
105. The circle that divides the day from night on the globe is called —
(A) Circle of illumination (B) Equatorial circle
(C) Elliptical Orbit (D) Summer Solstice
TAE W IE I S e T T bl Taw1iTd ohidT 7, shgandl & —
(A) e g (B) e I
(C) iR ¥ (D) W I
106. Katabatic winds blows from —
(A) From Valley to Mountain (B) From Mountain to Valley
(C) From Seato Land (D) From Land to Sea
ITEET Fa FafEd art § —
(A) o1& ¥ udd Il TWh (B) TddREAHIWE M
(C) THZ T hi TH (D) WATHgEHIwH B
107. Approximate Extension of the shadow zone of S-wave is —
(A) 105°to 145° (B) 105°to 105°
(C) 145°to 145° (D) 90°to 90°
S—TT o BT &1 T FIER T & —
(A) 105°F 145° (B) 105°F 105°
(C) 145°F 145° (D) 90°F 90°
108. On which beach is Kayal located ?
(A) Malabar Coast (B) Konkan Coast
(C) Kathiawar Coast (D) Coromandel Coast
FIT fha de iR 7
(A) HIATER G (B) iU T
(C) HifSATETeg @ (D) HHSHA dC
109. Batholiths, Lacoliths, Lapolith and Phacolith are related to
(A) Earthquake (B) Volcano
(C) River (D) Gravitational force
Senfore, Ahiferer, ANfIY o SheplfeTd Traf-rd & —
(A) [HHEEH (B) SATTHE! ¥

(C) & (D) TcThNY 5 A
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Which statements about the “Faience” are true ?

(I)  Faience mines have been found in Mehrgarh.

(I) Faience were found naturally.

(ITII) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, earring and tiny vessels.
(A) LI I (B) IL I, 1V

(©) HuLIv,v (D) 1V, V,I

T FIRA DA A HA T TAE ?

() A6 TgH UEuTg | fireft & |

(II) W3~ STehfcreh TR W 91T AT < |

(II) ST AT Th{eeh TeeR h FUI ohl TTig H AT 398 TEGY sTS it of |
(IV) 3 ST¢ 37 T W T Faeh-il Ta =@t et off |

(V) I8 & Tk, I, greh 3T B §d- ST I o |

(A) LILII (B) ILII, IV

(©) HuLIv,v (D) 1V, V,I

Which statements are true about Rigvedic period ?

(I)  Soma was a plant.

(IT) Brahma, Vishnu and Mahesh were the main deities. E,%
(ITI) Called Sukta or “Well Said”. B
(IV) Upanishad and Aryanak texts were composed.

(V) Indra was not the god of warrior.

(A) LI (B) ILIV
(C) IV,V D) LV
FAfeh Hel » F TR A HATTA R ?

() &9 T Gre o |

(1) e, T 9 new yqE Far 9 |

(III) FF 1 HAS, TS| T | SIAT T 4T |

(IV) 3I9TNE o 3TROIH TY &= 9 |

(V) %5 3G 1 TH@ <ol & AT |

(A) LI (B) ILIV
© 1w, v (D) LV

Which Buddhist text contains a dialogue between, a king named Avantiputra and a
disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

Teh TAT I 3T g o AR Fod h A TAC DA A NG UAT 7 7
(A) < e (B) e o

(C) wfsem Fpma (D) 3T fer
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113. Which Buddhist text contained a set of rules and regulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka
(C) Abhidhamma Pitaka (D) Jataka
I W Sllg U 1 Sig e A1 73] H @ a1et Al o o i o1 | o ¢
A) T foes (B) Hd fuesh
(C) Al fies (D) ST
114. Which is included in the six school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika
(C) Mahabharata (D) Upanishad
I &3 bt B T (Tgee) | i wfier 7 7
(A) @ ST (B) adftp
(C) wERa (D) 3ufreg

115. Who came to India during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B) Xuan Zang
(C) Itsing (D) Magasthenes
afveH TR o AT AT Sy ehet o TSgd o &9 H HRIehTl § WRA i 37T ¢
(A) TEIH (B) o @M
(C)  sfe (D) et -
116. State the complete true statements about Arikamedu. ﬁ{%

(I)  Ttis located in Puducherry.

(I)  Arikamedu was a Coastal settlement.

(ITII)  Other finds include pottery such as amphorae.

(IV) Items related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.

(A) L ILII (B) ML IV,V
C) IV, V,1 (D) V,IV,I
JTfepTg o fowar § quf T sheM waTsT |

() I8 ggedt | fera o |

(1) ARG HEEYUl I T |

(I11) T&T ThHRT & I firet § |

(IV) I8 T I T & geiferd seqd fireft 2 |
(V) F&i s Tsn=nasiy |

(A) LI I (B) HLLIV,V
©) 1V, V,I (D) V,IV,I
117. The Chinese Pilgrim ‘Xuan Zang’ lived in the court of which King ?
(A) Chandragupta (B) Samudragupta
(C) Harsha (D) Kanishka
<t chrefamt “vaq @ R TS R @R A R Y 7
(A) =T (B) HHT<

(C) =& (D) HiTsh
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In which play we find an interesting description of the plight of a poor fisherman in Gupta
period ?

(A) Harshcharit (B) Abhigyan Shakuntalam
(C) Mudrarakshasa (D) Mrichhakatikam

% Y A1 T 0 el § Teh RIS AGITR o 1 TARHATNET oh GRAITER hl ST Hal g5 8 ?
(A) TR (B) 3TfisIe e

(C) Harua™ (D) Y=OHICHA

Where is the temple of “Bhitargaon” situated ?

(A) Uttar Pradesh (B) Bihar

(C) Orissa (D) Bengal

“freria” =1 Afet el W R & 7

(A) I T (B) fuer

(C) IS (D) A

By what name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B) Krishna Dharma

(C) Guru Sandesh (D) Bhagavati Dharma

UgEdl IIATedt o g H ehicd, S I0d 91 & & Y 9, o Ul ! fohg am @
geifurd fopen ST 8 ?

(A) e o (B) T e %’E
(C) T&EN (D) T e

Which of the following are correct statements with reference to district and projects ?
(1)  Chittorgarh — Rana Pratap Sagar Dam

(2) Ajmer — Bisalpur Project

(3) Udaipur — Mansi Vakal Project

(4) Pratapgarh — Jakham Project

CVONCONC) B) (1),(2),3)

©) 2,0),# D) (1), 2), 4)

TSt wa ufer % dwe # Ffeifiad § 4 9 A A Tdl § 2

(1) TaxiieTg — TN 9™ 9eR Sty

(2)  ITSER — SHAYT TSI

(3) ICAY — A FTehet TS

(4) TATHTG — SITEH TS

Ay (1,3).#) B) (1), (2),3)

© 2,0),4) D) (1), (2), 4)

In which Crops Rajasthan is the top producer in India ?

(A) Mustard, Chickpea, Dewgram

(B) Psyllium husk, Cumin, Cluster bean

(C) Chickpea, Green gram, Black gram

(D) Green gram, Maize, Pearl Millet

Toh HCT % IcATEH | TSREIT b1 WRA H JH T 3 7

(A) EXEl, =[1, 618 (B) SHSIA, ST, SR
(C) =1, 7T, 3%% (D) T, 71, SR
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During 2001-2011 Population growth rate of Ganganagar district is —
(A) 10.0% (B) 16.9%
(C) 325% . D) 213 %
2001 § 2011 37aT % GRHA TR et <l SEe Jfg gt e —
(A) 10.0% (B) 16.9%
(C) 325% (D) 21.3%
Which ruler of Mewar was given the name of “Vishamghati Panchanan’ ?
(A) Rana Hamir (B) Rana Lakha
(C) Rana Kumbha . (D) Rana Udai Singh
“fersrmrerdl TR SRt T HaTS o fohd SmEeh bt € TS off ¢
(A) O gHR (B) T ARGl
(C) T FHH (D) T 3cARTE
Who was the Maharana of Udaipur at the time of revolt of 1857 ?
(A) Jaswant Singh (B) Swaroop Singh
(C) Udai Singh (D) Ratan Singh
1857 <t shifdl o TTF IGAY o TERIUN 6 & 7
(A) SHEds (B) WEUHg
(C) 3eafdE (D) TaidE
Where was the third session of “Rajputana Madhya Bharat Sabha™ held ?
(A) Nagpur (B) Jaipur
(C) Ajmer (D) Delhi 5%
“TSYAMT AL T FHT” 3T T ST hal T g ? =
(A) HFTE (B) &L
(C) 3T (D) faeeft
Who was made the Prime Minister of Greater Rajasthan ?
(A) Haribhau Upadhyay (B) Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“FEd TS h1 ST fohd ST 7T o ?
(A) B U™ B) 7 @Eﬂlgﬁg
(C) BRIeTTe STl (D) JIHNH UTeaT
Who is known as “Banasur ka Shaheed” ?
(A) Kesari Singh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“STUTTER 1 IEHe” 0 | S 91 THE AT JH1 AT 8 2
(A) hEliftE anEs (B) AN SidqftE
(C) wdmf¥E 9NEs (D) BIGR UK 1&g
Who built Churu Fort in 1739 ?
(A) Jaswant Singh (B) Rai Singh
(C) Kalyanmal . (D) Thakur Kushal Singh
T8 g1l 1 HHI0 1739 T TR Ham ?
(A) SHIAEE (B) t&®

(C) HeAHA (D) 3T A &7
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Tulsi, Haalro, Timaniyan and pot ornaments are worn by women in which part of their
body ?

(A) Head (B) Neck

(C) Hand ' (D) Waist .
Toret, gTerl, fraforat qem did res Sywor AfgeTaT g1 IR % hiF & I T UEH S & 7
A) & (B) Tl

(C) =¥ (D) =ut

Which Film has been made on the book “Duvidha” by Vijaydan Detha ?
(A) Mumal, Phulwari (B) Alekhu Hitler

(C) Duvidha, Paheli (D) Uljhan, Suljhan
TorsTaeT <o i g&de “gfaen” W S € e w1 i 8 g g 2

(A) T, Bearl (B) 3oy feeem

(C) gfawr, gaelt (D) 3TEH, oIgH

“Hela Khyal” is a folk theatre from which region of Rajasthan ?

(A) Dausa (B) Bikaner

(C) Sikar (D) Barmer

“ZeT BT THeh ATeh A1 TS % i 8 & ¥ Hafd 8 7

(A) g (B) &R

(C) (D) SN %
What is Patelya, Bichhiyo, Lalar, and Machar ? =
(A) Famous songs of Mewar (B) Famous songs of Marwar
(C) Famous songs of Mewat ‘ (D) Famous songs of Hadoti
gooT, Sifesa, AT o AT S ?

(A) WaTS % gfbg A (B) WRETS & Uidg Ma

(C) T % wfag fia (D) &Kt % wfag fia

“Social Science as a general term for all the sciences which are concerned with the human
affairs.” This is defined by

(A) Seligman (B) Mitchell

(C) Fairchild (D) Peter Lewis

“graTtareh fosm 37 At fosi % foT uss o=y wreg < &9 S W wHel | Hefid § |17

g afesiia femam mam 3

(A) HeEE g (B) P g

(C) WITETEEE g (D) X wifa® gra

Which of the following is an Audio — Aids ?

(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board

e g 8 o8 &t s amfi g

(A) fomameE (B) 3IAeEE TSl

(C) T fomams o= (D) FafeA«E
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87
Which one is not a type of project method given by Killpatrick ?
(A) Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
390 W I T Ueh fohetafees g fearm e aiisT 1 TR T § 7
(A) TETCHS JHESHT (B) Taeages uiwsm
(C) TURATHSP TSI (D) 31T YIS
Who propounded the linear programmed instruction ?
(A) Norman A. Crowder (B) B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
&R ARG STHCIH T fared fehem foham ?
(A) TTH T RIS (B) .U%. WhHIW
(C) UHeEH (D) o U%. fiesd
Which one is not a limitation of assessment ? ;.
(A) Lack of time ﬁ%

(B) More importance to the competition
(C) Conceptual error
(D) Freedom from fear and stressful environment

T4 i G Teh 3Tehetd shl HHT 21 B 7
(A) G i HHl (B) WfcrEast ol 31feres Wawa
(C) HehodATeTs Ife (D) 9 Ud qATeyul 9fes | giw

Which one is not prerequisite of lesson planning ?
(A) Knowledge of subject

(B) Knowledge of learner family background
(C) Knowledge of child psychology

(D) Knowledge of methods and techniques

1 T Teh U1S Ao <hl gatier TEi ] ?
(A) g (B) 3TfepTHeRal <h! qTiETieh I8 1 I
(C) STeT AT &1 I (D) Tfaferi (freror) wa qepfieht o1 IH

Which one of the following is correctly matched ?
(A) Socrates — Instruction method

(B) Plato — Questioning method

(C) Herbert Spencer — Dialectic method

(D) Aristotle — Deductive and Inductive method

i s v g gafera 8 7
(A) gohua — fcem fafa

(B) Il — YRR fafy

(C) T TR — Hare fafy

(D) 3T — 3T 3R fome fafer



B

141.

142.
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Which one is not a general objective of teaching of social studies ?
(A) Acquaintance with the environment

(B) Interest in socio-economic institutions

(C) Appreciation of cultural heritage

(D) Appreciation of caste system

SHIF HT Teh HTHITSR TSR 18707 1 GTH 389 81 & ?

(A) TTaRor | uftfad g (B) TR - 37Tffeh Teri | &
(C) HTehiceh forrerd shi TraT (D) STfa-92T =t IrEn
How many steps are suggested for solving a problem ?

A) 2 B) 3

< 5 D) 7

T < FHIM o fo1e, foha- =l o1 gema fean e g 7

A) 2 B) 3

<© 5 D) 7

From which layer of the atmosphere do radio waves come back ?

(A) Stratosphere (B) Mesosphere

(C) Ionosphere (D) Exosphere

e adit argee 1 fop aed & amow ST € 7 E’%
(A) HHA™ HSA (B) T HEA

(C) 3F wed D) REICEES

Which of the following cyclone is called water spouts in sea ?

(A) Typhoons (B) Hurricanes

(C) Willy-Willies (D) Tornado

o1 o @ Toper <IohaTd 1 Og W oIt &9 HEd & 7

(A) TEERA (B) &l

(C) Tocft-foefs (D) TSI

Which of the following currents are cold currents ?

1.  Labrador current 2. Oyashio current
3.  Benguela current 4. Alaska current
A) 1,2,4 B) 1,23

€ 2,3,4 (D) 1,3,4

fr=ferfaa st & @ wib @ 3 ard § ¢

1.  CSER g 2. IEfvEt g

3. e aw 4. ITCITEHT G
(A) 1,2,4 B) 1,2,3

©) 2,3,4 D) 1,3,4
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147.

148.

@®9)

During the time of perigee the tidal range is —
(A) Equal to normal (B) Less than normal
(C) Greater than normal (D) None of these
39 o T ST 3HY BIT & —
(A) W o SR (B) |HI & A
(C) | ¥ e (D) 8 ¥ ®Ig Tal
Match the following forests and trees :

Forest Tree

(1) Tropical Evergreen (a) Spruce
(2) Tropical Deciduous (b) Palm
(3) Montane (c) Mahogany
(4) Mangrove (d) Sal

Hn @ G @
A) d () (@ (b
B) (© (@ (b)) ()
€ (© @ (@@ (O
D) (@ @®) () (d
Frerferfian o v 9ai <1 gifera IR

EE CLl =)

(1) 3IVEHRTUITCEER  (a) @ Elg
(2) SUEREHFIE (b)) TR
(3) wEdE (c) et
(4) #UE (d) ¥«

@Mm 2 & @
A) d () (@ (b
B) (© (@ (b)) ()
€ (© @ (@@ (O
D) (@ @®) () (@
Which of the following is a group of Iron ore belts in India ?
(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)
(B) Kudremukh (Karnataka), Mayurbhanj (Odisha), Bokaro (Jharkhand)
(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhanj (Odisha)
(D) Mayurbhanj (Odisha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
frferiaa § @ o6 |1 Ira § oftg 37k Uil 1 Tgg 8 ?
(A) THEYH (FREE), dATSHAT (BTHETG), Aol (Y Te)
(B) 5T (Feifesh), TS (3Ifeam), SRl (FRES)
(C) SIhT (FREE), SelTfeetl (SeerTe), Fe (3nfea)
(D) WIS (3ftfeam), ey (sI@s), sSetfeet (Siiee)
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149. In which direction the Aravalli range extends in Rajasthan ?
(A) South-East to North-West
(C) South-West to North-East
TTErH 1 3Rt geiamTer forg feon o frga 2 2

150.

(A) cfeor-qd ¥ S-afvem
(C) cfeor-ufyem 8 ITR-

(B) North-West to South-East
(D) North-East to South-West

(B) SR-ufvew | gfeor-gd
(D) -4 & cfaor-ufyem

Match the following district and climatic regions :

(1
)
3)
4

(A)
(B)
©)
(D)

District

Jaisalmer

Jaipur

Sawai Madhopur

Jhalawar

1)
(c)
(d)
(d)
(d)

2)
(b)
(c)
(b)
(©)

(&)
(a)
(a)
(c)
(b)

(C))
(d)
(b)
(a)
(a)

(a)
(b)
(c)
(d)

Climate region
Extreme humid
Humid
Semi-Humid

Dry

freferfaa et wa Sty wewn w1 gafera Hifw -

(1
)
3)
4

(A)
(B)
©)
(D)

Sre

I

RREN

TETS TR

EINIELS]

1)
(c)
(d)
(d)
(d)

2)
(b)
(c)
(b)
(c)

(&)
(a)
(a)
(c)
(b)

(C))
(d)
(b)
(a)
(a)

(a)
(b)
(©)
(d)

EREIREE
afa-amg
3
30~
A
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INSTRUCTIONS / fadat
(Read carefully and comply / &9 & U 3R qTa we)
IMPORTANT / Agwqut

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the

. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Appli F
@%1??(5%cstl%nsﬂ%r%maauaﬁﬁwwaﬁaﬁ%ﬁﬂwwwawﬁ%mml%mﬁmaﬁﬁwﬁﬁm%|

Online Application Form. The Language-II will be different from Language-1.
GUE [11 (TS~ 11) W6 ATHTh T 1 b AT ST & IoT8 AT BT = SIS WIS - [[h &N AT 16 -T= A R | e - 11 arer - 18 forea et |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Booklet Number.

BB mmﬁ%OMRsﬁzﬁﬁaﬁawmnmgﬁﬁaﬂﬁaaﬁg@ﬁma WE A B | AT OMR 3fte =T GeaiehA
- ST UY A&l ik W9A- st IS Sh. o TR W FRAT ST |

in the Online Applicaton Form.
If a candidate answers the questions of the langu dge or subject other than selected in the Online Application Form, the candidate shall be
personally responsible _for it and it would be treated as wrong.
%mzﬁﬁsamﬁf W%ﬁg@m IV ) IO Td o an (v b amTioes sremaq 8 3d) fowa & gl & ed & 2, fm fawg &1 =wmm seft
AT e -u= |
gﬁ%awa AT TG -U= | =wgfd wrr a1 fawa & WAt R g 7 G o fowa & wedl @1 g wean @ ) 9g s i wd A e
qAT AT AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and SI. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanmeé of your OMR Answer Sheet.
TTH ﬁtmlﬁ7WOMRsﬁE®W1ﬁ4a$m—«rg%m(§aﬁsz)aﬁu%|uﬁmwaﬁ%%ﬁa¥w
‘mﬁmzﬁnwmﬁ% OMR «ffe it THTT & Fewasd g 9T TROmE & Fid T @ IaRart 2 |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
EECE W 96 I8 U 150 WA © | wrenef ey o S % Wi w1 9 - & "o wg gifesg = & T ge-gfeaan # 150
Tee § S 6 9B e 3§ Uy 90 @& &_| OMR ffe W firge R gl @ SR 6 T8 793-99 & AGER sAfeha &l € T W
T -GfEqHT % SO A R AT siferd AT €S R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers
T A9 S fehedia HehT o & | e WS 1 Ueh fachod 1 @l § | 9elish 95 & fodt frarffi sich wem R | wrovet starm o6 fosit sromresren sieh =i fol soafdt |
All questions other than language questions of Sections II and III shall be bilingual,
TIT-T H W TG @O 11 TF 111 % vt & afafaa 9w aft @vet & wya fgwmia g |
In any event of any mistake_in any question/s, candidates will not be penalized. However ng corrections will be made in question/s during the examination.
w9 7 ot e % fosd TreTa i fohEl WeRR T THETA et GITT | TXTTT ST ST 5 W1 # {ehel] YR T HTET el heardl
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be provided.
TR % TF h1d o W - e g ST S1 AT € | 38 WA -t @ 78 wie. | forelt yoer @t srferfkad wwe Suwesr A€t saman s |
Use of Log tables, Calculator, Slide rule, Moblle phone, Pager, Dlgltal diary, Bluetooth, Microphone or any other electronic item/instrument
st ot glowed, Thelp e wil st n disqualficaion fore T SR/ e 0 i At
, TES(1es I, ATSShIHIA AT I YHR HT SEEu] ki
%Iﬁmﬂmqﬁm%mﬁﬁa%mmm% e o
OMR Answer Sheet will be provided along wit m(_%élTeﬁstlon Booklet separately.
OMR ¢fic Us7-Geqeht & a1a SAfaierd Je i
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Bookletseal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warmn Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
YT -TIRAhT IRIEAT_STEA e & 10 T 4& of st | awaﬁmaswwﬁOMRaﬁzﬁwﬁu%&uﬁ YRR § W_| T -
g%wa?rﬂﬁa,qﬁmm% 5 Toee v @1a qu) % w1 ¥ 4 S wlafsedt st Hﬁwﬁ%ﬁ |1;rs‘=r gﬁ:—lm@ﬂﬁ%qsamqﬁma'fw
gﬁﬁmaﬁ%wﬁﬁaﬁaww%/aﬁémﬂwaﬁﬁ% BUTE It ® /AT Tg FE I AR 93 T © | TG A=
g%mﬁ HR H HTE Ffe II2 ST T qTehied STeqeh H qAT Sﬁ:l'rﬁ_’a?“ﬁ'cl'{ & T AUAT T - eI chT dqvicuﬁ | ﬂdlddl‘il?ﬁ
WT%}%SWH@‘W@WW@Q%W LCEC
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet Number
in the gpace pr0v1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
- 1%'T:%OMR sffe R feiika =&\ W TW, e S5 B FE, TEIER, AHF, TE-IEaE €W Fi5, fEe FwHie @ v giea
ShHTeh 3ifehd |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/black ballpoint pen only Gel pens/pencils are not allowed.
3T o IR deh 9% SR A, B, CA DH G T E | wet ang IR BT =TI X IS IR ] OMR e H v {7Ha I e o aoed
Y T R 3R |wﬁaﬁaaﬁ%ﬁ&i#ﬁ%mmwwﬁﬁwzﬁmﬂﬁ | S YR AT AR ST A € |

Correct Method : [ corrECT /st Wrong Method : [ wroNG /e WRONG /e WRONG /e WRONG / e

i 000 @| ™™ ROOO||oQ00o||0o00O||CeC e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b}é;computer dlfﬁcult Any resultant loss to the candldate on the above account shall be of the candidate only.

OMRS Egﬁ OMR ¢fie s fuee fea T fdart TET R, T P TIRT STIhT
%|wwﬁqﬁmﬁﬁ%ﬁ s ﬁ%ﬁwﬁm @?W e B

No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR co w1th him/her. Question Booklet is not allowed to be taken by the candidate.
HTE qhendl sifem 5] e & o Wi w4 § EI'I%?H% | OMR ¢gfte 1 qa afgd § SH 1Al qCF ICHRIA fora
3 ® | el "EET ¥ i ) ufa (m%ﬁ)ﬁgwr% @Wﬁm&‘%ﬂ%ﬁaﬁ% ;@ﬁ'wﬁrﬁaﬁézﬁﬁ | greTT-hed
%ﬁ%ﬂgawﬁOMRﬁgqﬁwmﬂm #h ! HIT ¢ | AT waer gt OMR Y wier 2t o1 a0 & & | we-gfeasht




